The 2138 9] aABC oA £C=90° & T, sinA + cos A 9] = 73}
ofat.




th2 I"efA AHLBC, /BAC = 90° A
A o], cosx + siny 9] & F5toizt,




3. o a9 78 A7 ABC ©of ti5ke] sinC, cosC, tanC 2]
e Fotofet.




olal, BC 7t

5)
12

22 AZ4479 ABC °A] tanC

1}
4em ¥ o, AB 2] Zo]

a9

ol

o

shelat.

=X

cm



5.

COSA =

> S
=%

ol w

Q]
=

o, sinA + tan A ©] 3t Fotodeh (H, A = 97



sin A + 2cos A

6. tanA =
an sin A — cos A

< o, o] = FohH?

1
2

@ 5 @ 3 @1 @ -1 ® -5



1 _
7.  2sin60° x tan 45° X cos 30° + 3 o] Zk& Lstoiet



8.

th& 184 nABCD & AAHZE o], [EAD = 60° o[t} Mgt
o] WOt 72em® & W, AZYE 0] ¢F W o] Aol S oot




o2 I"A AD = 4,
(BAC = /ADC = 90°,
/DAC = 45°< ©], AC + BC
o] Aol & Fsfoizt

&=
=%



10. The T 2L AZAGeNA x 0] 3 B
Fstefet.




